Tert butyl alcohol

Response Ratio
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Response = 4.980e-002 * Amt + 8.232e-002
Coef of Det (r"2) = 0.996356 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y062422S.M
Calibration Table Last Updated: Sat Jun 25 07:08:46 2022
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Toluene-ds

Response Ratio
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Concentration Ratio

Response = 6.814e-001 * Amt + 1.071e-001
Coef of Det (r®2) = 0.995361 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y062422S.M
Calibration Table Last Updated: Sat Jun 25 07:08:46 2022



1,2-Dichloroethane-d4

Response Ratio
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Concentration Ratio

Response = 3.419e-001 * Amt + 3.468e-002
Coef of Det (r"2) = 0.997274 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y062422S.M
Calibration Table Last Updated: Sat Jun 25 07:08:46 2022



Methylene Chloride

Response Ratio
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Concentration Ratio

Response = 5.122e-001 * Amt + 3.760e-002
Coef of Det (r®2) = 0.998757 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y062422S.M
Calibration Table Last Updated: Sat Jun 25 07:08:46 2022



